Paper / Subject Code: 20317 / Microeconomics-I

Time: 2% Hours Marks: 75

Note: 1. All questions are compulsory.
2. All questions carry equal marks.
3. Draw neat diagrams wherever necessary.

Q.1. Answer Any Two of the following. (15 Marks)
a) Describe the term ‘Income Effect’ with the help of diagram.
b) Elaborate the concept of Roy’s identity.
c) Write a note on Indirect Utility Function.

Q.2. Answer Any Two of the following. (15 Marks)
a) Explain the geometry of costs.
b) Discuss the term ‘duality of costs’.
c) Elaborate the CES production function.

Q.3. Answer Any Two of the following. (15 Marks)
a) Give the definition of perfect competition and discuss the features of it.
b) Explain the first and second fundamental theorems of welfare economics.
c) Explain the concept of consumer surplus with the help of diagram.

Q.4. Answer Any Two of the following. (15 Marks)
a) Explain how monopoly power is measured.
b) Discuss the essential conditions for price discrimination under monopoly.
c) Explain determination of price and output under first degree price
discrimination.

Q.5. Write short note on any three. (15 Marks)
a) Substitution Effect.
b) Homogeneous and Homothetic Technology.
c) Concept of the Tatonnement Process.
d) Market power and monopoly market
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